MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599
NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/economy

Haas Door Company
320 Sycamore Street
Wauseon, OH 43567

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to
be used in Miami-Dade County and other areas, where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami-Dade County) and/ or the AHJ (in areas other than Miami-Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance if it is determined by
Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the applicable
building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code, including
the High Velocity Hurricane Zone.

DESCRIPTION: Series HT 5000 Insulated Aluminum Sectional Garage Door up to 18ft.-2in. Wide

APPROVAL DOCUMENT: Drawing No. WL-5000-0218-08-45-50M-D, titled “18°-2” HT 5000
Aluminum Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 03/11/2015, with revision
C dated 10/12/2020, prepared by Haas Door Company, signed and sealed by John E. Scates, P.E., bearing the
Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the statement
reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side track, bottom
angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 20-1104.12 and consists of this page 1 and evidence pages E-1, E-2 and E-3, as well
as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

/% NOA-No. 23-0830.14

M'AM'UNTY Expiration Date: February 18, 2026
Approval Date: October 19, 2023

Page 1



Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDER PREVIOUS NOA’s

A.

DRAWINGS “Submitted under NOA #17-0313.13”

1. Drawing No. WL-5000-0218-08-45-50M-D, titled “18’-2” HT 5000 Aluminum Series
HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 03/11/2015, with
revision A dated 01/20/2017, prepared by Haas Door Company, signed and sealed by
Thomas D. Sullivan, P.E.

TESTS “Submitted under NOA #15-1104.06”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Resistance Test, per TAS 202-94
along with marked-up drawings and installation diagram of 9°-2" wide x 8” height HT
5000 Series Aluminum Sectional Garage Doors, prepared by Intertek/ATI, Test Report
No. E1289.09-550-18, dated 02/10/2015, signed and sealed by Justin P. McDonald, P.E.
2. Test report on Tensile Test per ASTM ES8, of steel sheets, prepared by Intertek/ATI,
Test Report No. E1289.13-106-18, dated 02/26/2015, signed and sealed by Gary T.
Hartman, P.E.

CALCULATIONS “Submitted under NOA #15-1104.06"
1. Anchor calculations prepared by JB&B Engineering Consultants, LLC, dated
07/01/2015, signed and sealed by Thomas D. Sullivan, P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS

1. Test report on Surface Burning Characteristics of the Rubitherm WP 19669
polyurethane foam insulation per ASTM E84, prepared by QAI Laboratories, Test
Reports No. RJS5251F-1 and RJ5251F-2, both dated 01/26/2017, signed and sealed by
V. Andrew Tan, P.E.

2. Test report on Ignition Temperature of Plastics of the Rubitherm WP 19669
polyurethane foam insulation per ASTM D1929, prepared by QAI Laboratories, Test
Report No. RJ5255F-1, dated 02/02/2017, signed and sealed by V. Andrew Tan, P.E.

b

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 23-0830.14

Expiration Date: February 18, 2026
Approval Date: October 19, 2023



Haas Door Company

F.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

STATEMENTS “Submitted under NOA #17-0313.13”

1. Statement letter of code conformance to the 5™ edition (2014) FBC issued by JB&B
Engineering Consultants, LLC, dated 02/27/2017, signed and sealed by Thomas D.
Sullivan, P.E.

2. Statement letter of no financial interest issued by JB&B Engineering Consultants, LLC,
dated 02/27/2017, signed and sealed by Thomas D. Sullivan, P.E.

2. EVIDENCE SUBMITTED UNDER PREVIOUS NOA-No. 17-1023.16

A.

DRAWINGS

1. Drawing No. WL-5000-0218-08-45-50M-D, titled “18’-2” HT 5000 Aluminum Series
HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 03/11/2015, with
revision B dated 10/25/2017, prepared by Haas Door Company, signed and sealed by
John E. Scates, P.E.

TESTS
1. None.

CALCULATIONS
1. Anchor calculations, dated 10/27/2017, prepared, signed and sealed by John E. Scates,
P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS
1. None.

STATEMENTS

1. Statement letter of code conformance to 6™ Edition (2017) FBC, dated 10/27/2017,
prepared, signed and sealed by John E. Scates, P.E.

2. Statement letter of no financial interest, dated 10/27/2017, issued, signed and sealed by

John E. Scates, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 23-0830.14

Expiration Date: February 18, 2026
Approval Date: October 19, 2023



Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. EVIDENCE SUBMITTED UNDER NOA # 20-1104.12 AND NEW

A. DRAWINGS
1. Drawing No. WL-5000-0218-08-45-50M-D, titled “18’-2” HT 5000 Aluminum Series
HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 03/11/2015, with
revision C dated 10/12/2020, prepared by Haas Door Company, signed and sealed by
John E. Scates, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS

1. None.
F. STATEMENTS

1. Statement letter of code conformance to 8" edition (2023) of the FBC, dated
06/27/2023, prepared, signed and sealed by John E. Scates, P.E.

2. Statement letter of no financial interest, dated 06/27/2023, issued, signed and sealed by
John E. Scates, P.E.

3. Statement letter of code conformance to 7" edition (2020) of the FBC, dated
10/20/2020, prepared, signed and sealed by John E. Scates, P.E.

4. Statement letter of no financial interest, dated 10/20/2020, issued, signed and sealed by

John E. Scates, P.E.

b

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 23-0830.14

Expiration Date: February 18, 2026
Approval Date: October 19, 2023



w)

REVISIONS
REV. |ZDKE| BY DESCRIPTION DATE
Al |Sheet 2 Added "NOTE: The flat,...mount”
[A2|  [sheet 2 Added "3" Nominol..on Aternote.”
- MaXimum Door Wldth 18‘ o A 0115&&2 MVS ?:eet 2 Md-ad 3 Aternote Bottom Brackets 1720717 F
, . . NOTE: Track canfiguration above (€3 | |Sheet 3 Added "WOOD JAMB ATTACHEMENT®
™ Top Bracket End & lStetrTT_d(laEe SttIIZSSf[:?aCkerS) the door opening does not affect [B2| [sheet 3 Changed FR Polyurethane Foom
etail L (sheet 2 o i i -
DETAIL A (sheet 2 of 3) S e o7 g A the ind laed rating of the door. I e
Attached with 3 mm TOG-L-LOC at 2 places. ] n e raller hub distonca from 1/4"
‘/,’ﬂ“— j, C | A4 |Mvs :::n‘/g;g 'fnhnﬂgn_; o et 2':1 34!/4 0712/
- —= - ! T — B i i DOUBLE STEEL END STILE ]
) ) i i) 16 Ga Galvanized Steel
__ _ _ Detail M (sheet 2 of 3) =
] [T 1 ]
\x Flag Bracket
7 Detail H (sheet 2 of 3) E
i
] =i =TI
vl | i vl
Door Height T Y ™ *
8'- 0" Shown = e == g o 1
See chart . 543" +/- 3 781" +1- 3" Jamb Bracket
below for ofher 7 Detail F (sheet 2 of 3)
door heights
= o Zm: 661" +/- 3"
o S, S, L L_fo L
— — p— — —— — — p— 383" +/- 3"
N/ A . D
LA 4 4 a5
t 15 7 A
B =0 ] T ] — = i = i In4). a0
=1 =l { || i e i 221" +/-3
\ PRODUCT REVISED
X % 3 as c lyi ith the Florid:
= =M ; ==IE [ = W= Building Gode . o
\\ NOA-No. 20-1104.12 7
L - . Expiration Date 02/18/2026
Bottom Bracket End Hinge Strut & Strut Attachment Intermediate Hinge 'j “”LS'*de Lock Smlwrl Detall G ar By A
i i i p .. " ock Bars Detail J (sheet 2 of 3] =
Detail C (sheet 2 of 3) Detail B (sheet 2 of 3) Detail E (sheet 2 of 3) Detail D (sheet 2 of 3} 4 +1/. 3 Detail J ( ) Miami-Dade Product Control
108 43" —
C
' g,
This product has been tested per TAS202-94 for static air pressure, Jamb bracket quontities shown are for use with grade 2 or belter southern pine jombs. \\f\\\\é\v\ E. SQ{; 'j//,
N . e . N Ry o T
. S t tructural el t de: lo be ih it { ih fessional & 0.' GEN Ry
This product has been tesied per TAS201/203-94 for large missile impact ond cyclic wind pressure. o:pfez:,‘rggf;rﬁewgunz;rgesr :tr‘su\g{llsrea?ir ?heglcocfs ri?ss%i?jnsoinr kt%?sod:o;inzo ssone Q,:\ ‘);" W S ‘»‘f’
Model Number T =/ 737
Door | Bk ITotain. | swut | damE = [ No.si7ay L
HT 5 _10 SERIES Height Sections | of Struts Configuration Side NOTICE: ;:_ e :‘ I,
HT 5 12 SERIES 5-0" 3 5 5 | These drawings cre o supplement «;‘%\ STATE OF
- PO to the installation instructions for - %
HT 5 _14 SERIES 8-0 4 6 5 o standard door ond only covers ?OA\'\&/ 0P
HT 5 _80 SERIES HT 5_70 SERIES HT 5 _16 SERIES 6'-3" 4 6 5 those procedures that vary from ’.f,@@{i@?;: I
: Ea standard door instoffation, If s Slon N
Door Width 1Desian Pressures| End —_Center _ —Center Center Impact 5‘ 6“ 4 6 6 Thone haecifin proseduros are not f,u,;’!’t‘gfj;”-\a\\‘- B
+ psf - psf _|Backers| Stiles Hinges Stiles Hinges Stiles Hinges |Resistant 6-9 4 6 SEE 6 followed, the door may not '
163" thru 182" | 45 -50 | Double 7 3 7 3 7 3 YES 7'-0 4 6 SHEET 6 perform as designegg
7 2 3 5 AT g & O John E Scates, P.E.
oy ] & 30F3 = N \(: e 2560 King Arthur Bivd. Ste 124-54
75 5 3 7 \{H\/K(u ("L"@z«,‘\j Lewisville, Texas 75056
- h Florida P.E. 51737
This product is available in narrower sizes with the same PSF and constructed as shown. 7'-9" 4 6 7 I # _—
This product is designed and sold by PSF. The AHJ or Engineer of Record is responsible for determining the 7-9" 5 8 7 IMPACT | This product has been evaluoted for use in
PSF required for any given site. 8'-0" 4 8 7 RESISTANT |the High Velocity Hurricane Zone (HVHZ).
PRODUCT REVISED g-0" 5 8 7
B _ ) | e 182" HT J !
AS_N’_MP'Y'“S with the Florida  \/s,imum section height is 24 in. | ii% HVHZWIN]SJOE%QE%%&iERé%SOR
Building Code Moximum door height is 16 ft. £7E DESIGN PRESSURE +45.0/-50.0 PSF A
NOA-No. 20-0830.14 All doors, even those above the tested height, are avoilable 320 Sycamore  |DRAWING NO: WL-5000-0218-08-45-50M-D |REV. C
Expiration Date: 02/18/2026 with jamb brackets or commercial full angle, The gquantity Wausean. Ohio 43567 " , n "
and dimensional location of the jamb brockets/track clips 419_§37_9900 DATE DRH: 3/1115 IDRAW"“' MVS‘HEV'DATE' 107122020
By: and the jamb mounting shown above should be maintained. © Conpntinie MODEL(S): See Sheet 3 |SHEET: 10F3
1 2 3 f 5 6 l 7 \ 8

Miami-Dade Product Control



1 2 g 3 4 i 5 | 6 | 7 | 8

REVISIONS
TEK SCREW REV. [ZONE| BY DESCRIPTION DATE
2% 1/4" X 3/4" Hex Wosher Head Self Drilling A Sheet 2 Added "NOTE: The flot,...mount”
(3 per Bottom Bracket & 2 per Low TEK SCREW [A2|  [Sheet 2 Added "3 Nominol..on Allernole.”
ADJUSTABLE TOP FIXTURE END HINGE Headroom Top Bracket) 1/4" X 3/4" Hex Washer Head A [Es2 |\iyg [Sneet 2 Adses 3 Aternote Btiom Brockets |, /o
12 Go 14 Go Galvanized Steel BOTTOM BRACKET Selt Drilling (3 per Bottom & 2 per (STl MVS 1o perhu e, F
00|05 N 13 Ga Galyonized Steel i Inner Botton Brackets) E3 [Shest 3 Adced "HOOD JANE ATTACHEMENT”
g D f j/ﬂ ] zUSHDgTLIJ\NTL 7K/1f6 h TEK SCREW o BOTTOM BRACKET B2 Sheet 3 Changed FR Polyurethane Foom
$ 3 (| ¥ ee or push » " ’. o i
, nut plocement :é:d );e‘j'/gm:negx (vzuihee:r 8 é LOW HEADROOM TOP BRACKET 04 ° 13 Ga Galvonized Steel 5 Pavys|eet 3 Changed some volues in the WOaD | e
Hinge) » ADJUSTABLE INNER [Changed the roller hub cistance fram 1/4"
TEK SCREW e PUSH NUT 7/16 all @ BOTTOM BRACKET C | A4 [MVS|o 172" in DETAL K on sheet 2 of 3. [/1%/%
o lo=#0] 1/4" X 3/4" Hex Washer PUSH NUT 7/16" o See DETAL K for push nut == PUSH NUT 7/16"
Head Self Drilling (4 per See DETAIL K far push placement s‘ee m‘/&_{\__ﬁ for push nut —
Bracket) nut plocement \_}\ placement.
BOTTOM SEAL BOTTOM SEAL
TO DETAILC
TEK SCREW TEK SCREW — 1/4" x 3/4" Hex Washer Head E
1/4" X 3/4" Hex TEK SCREW. 3n § Dt iate Stil SLIDE LOCK (One On Each
Wosher Head Self Drilling 1W/4"h X S/4d‘ Hex 4 Self Drilling (2 per End j‘:;‘;{me‘;‘f(z s{;ji Side of The Door) or
+ osher Head Se X
(Asdjt?setraﬁ:t\::;r&sgttg: Drilling (14 per INTERMEDIATE HINGE 18 Go 70 KSI Minimum JAMB BRACKET 7 LOCK BARS (see DETALL J)
B8 Bottom Brackets) 18 or 14 Ga Galvanized Steel 1 12 Ga Galvanized
rackets) ottol Calvanized Steel 3 S
2 teel FTeTe) SLIDE LOCK or
HOTTOM BRACKET [202C
12 Ga Galvonized Steel E’?EP\TANEKR’;E:E; TEK SCREW : I "; 47\ LOCK BARS L
1/4" X 3/4" Hex — Engages inta the
Coated Steel | 2 ertical track on
ADJUSTABLE INNER Washer Head Self och i
BOTTOM BRACKET o N 5 each side of the
PUSH NUT 7/16" Driling (4 per Hinge) T090g oor
PUSH NUT 7/16" See DETAIL K for | 5 | BOLT & NUT 2028
See DETAIL K for push push nut plocement. NOTE: The location of =0 = 1/4-20 X 5/8
nut placement. oM SEA the intermediate hinges 3" x 3 1/4" BRIDGE PLATE Carriage Ball & TEK SCREW
BOTTOM SEAL BOTTOM SEAL is indicated by the WGS Ga 5% KSI MINIMUM L/?*(%O HEXJ Wﬂshef 1/4" X 3/4" Hex D
toggle lack dimples ot aivanized Steel u per Jam Washer Head Self
ALTERNATE #2 ALTERNATE #3 DETAILD 0¥, 6 coch section. DETAILE  Attached with 3 mm DETAILF  Brocken) DETAIL G 5iiing (4 per Siide
TO DETAILC TODETAILC fooTitec e % comers Lock)
PRODUCT REVISED PRODUCT REVISED
i HEEE I I ] As complying with the Florida as complying with the Florida
OUTSIDE — ! Building Code Building Code
HANDLE . . 7" Min. . NOA 9 NOA-No. 20-1104.12
] 18" Section - 17 3" | - . No. 20-0830.14 Expiration Date_02/18/2026
21 soction — 20 1 . Expiration Date:  02/18/2026 P
18" Section — 17 §* 7 24" Section — 23 {'[ T ROLLER By
217 Section ~ 20 5" | 2" Diometer Nominal Ten Ball Nylon #/Hardened By: / Miami-Dade Product Control
" ion — " ° ° Shoft or Ten Ball Steel w/Hardened Shaoft with " N
247 Section - 23 } 1 ] o Minimum Workable Shaft Langth Shown. Miami-Dade Product Control c
IR ) 1iis
— S S,
LOCK BARS Engage — =< 6"4——] @0\%“;__:..?4)’,}/-{/,
into the vertical N WLNCENSE N
track on eoch side 7 FLAG BRACKET ~ - AN
» LA KET, ., o - >
of the doar _—_l 28 I—qf 3 e Lnt No. 51737 (-
DETAIL J — T AN '
4 * e
ZEIALJ " 2
Alternate Lock Configuration —D—E—T—M w \k”(\ STATE OF ', .
MATERIAL: 20 GA CS Steel, MATERIAL: 16 GA CS Steel, BOLT X "
G40 Min, Hot Dipped G40+ Min. Hot Dipped 5/16" X 1 5/8" Lag Bolt ~ Ny
Galvanized Galvanized (4 per Flag Bracket) . LORI9
DOUBLE STEEL END STILE NOTE:  Jomb Loads: DOUBLE STEEL END STILE S/ONAL B
16 Go Galvanized Steel 405.0 1ba./it. / —450.0 los./f 16 Go Galvanized Steel RATITETEN
Detail M (sheet 2 of 3) +405.0 Ibs./ft. / =450.0 Ibs./ft. Detail M (sheet 2 of 3)
End & Intermediate Stiles (Backers) BOLT & NUT
Detail L (sheet 2 of 3) 1/4-20 x 5/8" Track Bolt John E Scates, P.E.
Atloched with 3 mm TOG-L—LOC at 2 places. & 1/4-20 Hex Washer Nut 2560 King Arthur Blvd. Ste 124-54
- (2 for Horizontal & 2 for Lewisville, Texos 75056
vertical Track) Florida P.E. # 51737 L
Maximum IMPACT This praduct has been evaluated for use in
1/2" RESISTANT |the High Velocity Hurricane Zone (HVHZ).
BOLT & WASHER VERTICAL TRACK L
5/16" X 1 ?/8" Lag Balt & 2" 2" Nominal 13 Ga Galvanized Steel w -D—EIA—iiiﬂ 182" HT 5000 ALUMINUM SERIES
gb[#Ex 7J/15b L'D' kFlctut WQsthebr  tested. WOOD JAMB T;‘e'e should ?;29 spf;:er NOTE:  Detail . ted HVHZ WIND LOAD SECTIONAL DOOR
: Jam racket must be in " ii i s B of maximum e N o)
Gact contact with the 246 (Mo os wominal 13,00 19 oo opproved The vertical wood jomb fasteners theraller hub ond the Details on some views omitle DESIGN PRESSURE +45.0/-50.0PSF | A
raan o d)w e 2x6 (No o5 an alternate. may be counter sunk to provide a outside edge of the roller for clarity. Double end stiles and
rywall ailowed). flat 1 rface. See jamb ok . : - - -(08-45- - .
NOTE: The flat washer is not e e oo st 3 for holder which is set by the end hardware may be required on 320 Sycamore | DRAWING H0.: WL-5000-0218-08-45 SOM-D [REL. C
required for angle maunt. attoching jombs. to the structure, push nut. wider or heavier doors. Wauj?ggaghgl%u‘sn3557unTEnRu: 31115 |DRAWN BY: MVS [REV. DATE: 10122020
SECTION B-8 comamms |MODEL(S):  See Sheet 3 |SHEET: 2 OF 3

1 2 3 4 I 5 \ 6 | 7 \ 8



5 l

1 2 3
REVISIONS
/— FASTENER TO CONTINUE neufioe] gy ] e
PAST HEADER | A1 heet 2 Added “NOTE: The flat....mounl
13" THICK — HT 5700 SERIES / o | A2 | [Sheat 2 Added 3" Nominol..on Alernote.”
'T l—d— 2‘,‘ THICK — HT 5200 SERIES L A 8% Mvs ?:“‘TilMd,ed 3 Aiternote Bottom Brackets |, ), /| E
%{ %% [E3| |[snest 3 Addeg "WOOD JaME ATTACHEMENT'
[ | 11 B2 [Sheet 3 Changed FR Polyurethane Foam
° ° 3,04,/ [Sheet 3 Chonged some values in the WOOD o2/t
2 X 6 GRADE 2 OR BETTER SOUTHERN B psaedMVSiiaME ATTACHMENT chort
PINE JAMBS. o | s |pavs|repsed ne sater nup Gt from 1747 [ )
SEE CHART FOR 2X6 WOOD JAMB ATTACHMENT Lo 1/7" Tn DETALX on sheet 2 of 3
o TO BUILDING STRUCTURE. \o —
A
STRUT Detall £ WOOD JAMB ATTACHMENT
(sheet 2 of 3)
Buildin - Minimum| Minimum i llowabl ° °
Stru ctuge Fastener Type EMK‘Q’E#E“. DEEa e ngpt;imger ogp(;?:mgar TESZ':?“ N p\/l
OPENING ™, g
Min. 2000 PSI | Tapcon 1/4" w/ " " " " HEIGHT
TONGUE AND GROOVE JOINT Conorete | 1" ODwasher | '34" | 2127} 4 17| Mok ° °
Southern Pine 3/8" Lag w/ t2 10| a4 12 | 620# _ MAXIMUMON
9 (G=0.55) |1 1/8" OD washer CENTER SPACING
Spruce Pine Fir 3/8" Lagw/ " M M " o
. e P o OT | 1120 | 20 | 4 | 120 | 424 FIRST FASTENER 4*06"
e et £ r ABOVE THE FLOOR
o
24 CA MIN. EXTERIOR NOTE: 2X6 mounted to the wall must be Southern Pine Grade 2 or better.
ALUMINUM SKIN_ WITH
BAKED—ON POLYESTER
PAINT TOP COAT.
MIN. YIELD: 11 KSI OPENING
WIDTH

\STRUT Detail E

(sheet 2 of 3)

STRUT Detail E
(sheet 2 of 3)

24 GA MIN, INTERIOR
ALUMINUM SKIN WITH
BAKED-ON POLYESTER
PAINT TOP COAT.

MIN. YIELD: 17 KSI

STRUT Detall E
(sheet 2 of 3)

:_J/

STRUT Detail E
(sheet 2 of 3)

SECTION A-A

TONGUE AND GROOVE JOINT.

TONGUE AND GROOVE JOINT,

4——— FIRE RATED POLYURETHANE FOAM
INSULATION - RUBITHERM WP 19669

RIGID/FLEXIBLE PVC BOTTOM SEAL.

T

o4
g O
]
O
PINE!
. [
.
U4 g
g
O [ (-
s & é—
(- O
- ol o
& P
(- O .
4 4 ég
(. (-
- .
]

@
4SECTIONS 5SECTIONS 6 SE’CTIONS
STRUT CONFIGURATION

7 SECTIONS

MODEL NUMBERS

MODEL NUMBERS AVAILABLE

HT 5_10 SERIES
HT 5 _12 SERIES
HT 5 _14 SERIES
HT 5 _16 SERIES
HT 5_70 SERIES
HT5 _80 SERIES

PRODUCT REVISED

As complying with the Florida

Building Code
NOA-No.
Expiration Date:

N
By: £

Miami-Dade Product Control

R < 2';?;:

20-0830.14
02/18/2026

PRODUCT REVISED

as complying with the Florida
Building Code

NOA-No. 20-1104.12
Expiration Date 02/18/2026

By «
Miami-Dade Product Control

\
o2
Y
(3
7

L

e John E Scates, P.E.
i O\ . 2560 King Arthur Blvd. Ste 124-54
&&“‘(‘(f_} (’ZL”{I( ) Lewisville, Texas 75056
) ~ Florida P.E. # 51737
IMPACT  |This product has been evaluoted for use in
RESISTANT |the High Velocity Hurricane Zone (HVHZ).

320 Sycamore

Wauseon, Ohio 4356

419-337-9900

® o2

182" HT 5000 ALUMINUM SERIES
HVHZ WIND LOAD SECTIONAL DOOR
DESIGN PRESSURE +45.0/-50.0 PSF
DRAWING NO.:_WL-5000-0218-08-45-50M-D [REV. C
DATE DRN: 3/11/15_[URAWN BY: MV'S [REV. DATE: 101122020
MODEL(S):  See Sheet 3 [SHEET: 3 OF 3

7 [ 8




	NOA 23083014 Doc
	NOA 23083014 Dwg

